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H
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HE SariaR RS
(o} #1iE) (EHB)

#97° WL 147 147

F1 6. 946 6. 36E+07
BERFEE 0.515 3. 86E+08

h R {E 6. 982 9. 60E+06

PN 9.568 3. 10E+09

R/ME 5. 886 0. 00E+00
1T — 1 9.978 9. 5E+05 1/31 9:22 3.26 el 8.1 1/31 10. 2 1/31 35.0 2/2 35.0 3. Tt REYT AL
1 - 2 5. 886 1. TE+05 1/31 9:22 3.26 el 8.1 1/31 10. 1 1/31 35.0 2/2 35.0 3. Z Dt REYT AL
1 — 3 5.929 8. 5E+05 1/31 9:22 3.26 o 8.1 1/31 10. 1 1/31 35.0 2/2 35.0 3. F Dt REYT AL
2 — 1 5. 889 1. 8E+05 1/31 9:22 3.26 M 8.1 1/31 10.8 1/31 35.0 2/2 35.0 3. F Dt REYT AL
2 — 2 5.968 9. 3E+05 1/31 9:22 3.26 M 8.1 1/31 10.5 1/31 35.0 2/2 35.0 3. F Dt REYT AL
2 — 3 5. 886 1. TE+05 1/31 9:22 3.26 o 8.1 1/31 10.6 1/31 35.0 2/2 35.0 3. F Dt REYT AL
3 — 1 5.934 8. 6E+05 1/31 9:22 6. 66 M 8.1 2/1 10.0 2/1 35.0 2/3 35.0 3. F Dt REYT AL
3 — 2 5.949 8. 9E+05 1/31 9:22 6. 66 M 8.1 2/1 10. 1 2/1 35.0 2/3 35.0 3. F Dt REYT AL
3 — 3 5. 991 9. 8E+05 1/31 9:22 6. 66 o 8.1 2/1 10. 1 2/1 35.0 2/3 35.0 3. F Dt REYT AL
4 — 1 5.982 9. 6E+05 1/31 9:22 6. 66 M 8.1 2/1 10.0 2/1 35.0 2/3 35.0 3. F Dt REYT AL
4 — 2 5.978 9. 5E+05 1/31 9:22 6. 66 M 8.1 2/1 10.0 2/1 35.0 2/3 35.0 3. F Dt REYT AL
4 — 3 5.929 8. 5E+05 1/31 9:22 6. 66 M 8.1 2/1 9.9 2/1 35.0 2/3 35.0 3. F Dt REYT AL
5 — 1 6. 748 5. 6E+06 1/31 [11:30 6.6 wia 20.0 | 1/31 10.0 1/31 2/2 1 RREE
5 — 2 1. 041 1. 1E+07 1/31 [11:30 6.6 wia 20.0 | 1/31 10.0 1/31 2/2 1 RREE
5 — 3 6. 968 9. 3E+06 1/31 [11:30 6.6 iR 20.0 | 1/31 10.0 1/31 2/2 1 RREE
6 — 1 1. 041 1. 1E+07 1/31 [11:30 6.6 wia 20.0 | 1/31 10.0 1/31 2/2 1 RREE
6 — 2 1.079 1. 2E+07 1/31 [11:30 6.6 wia 20.0 | 1/31 10.0 1/31 2/2 1 RREE
6 — 3 6. 968 9. 3E+06 1/31 [11:30 6.6 iR 20.0 | 1/31 10.0 1/31 2/2 1 RREE
7 — 1 6. 839 6. 9E+06 1/31 [ 11:30 6.6 o] 20.0 | 1/31 10.0 1/31 2/2 1 RREE
7 — 2 6. 908 8. TE+06 1/31 [ 11:30 6.6 o] 20.0 | 1/31 10.0 1/31 2/2 1. RIS
7 — 3 6. 929 8. 5E+06 1/31 |11:30 6.6 e 20.0 | 1/31 10.0 1/31 2/2 1. RIS
8 — 1 6. 968 9. 3E+06 1/31 9:30 6.5 A 3.0 1/31 10.0 1/31 37.0 2/2 37.0 | 1BEEE
8 — 2 1.079 1. 2E+07 1/31 9:30 6.5 ) 3.0 1/31 10. 1 1/31 37.0 2/2 37.0 | 1. BEEE
8 — 38 1.101 1. 3E+07 1/31 9:30 6.5 R 3.0 1/31 9.9 1/31 37.0 2/2 37.0 | 1 BFEE
9 — 1 1. 301 2. 0E+07 1/31 [11:23 9.0 R 1/31 10. 1 1/31 35.0 2/2 35.0 | 1.BFuEsE
9 — 2 1. 041 1. 1E+07 1/31 [11:23 9.0 ) 1/31 10.0 1/31 35.0 2/2 35.0 | 1.BFuEsE
9 — 38 1. 041 1. 1E+07 1/31 [11:23 9.0 DB 1/31 10. 2 1/31 35.0 2/2 35.0 | 1.EREE
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R —RERRESR

n | BARE | EiRR
et 38iE) (E#E)
$97° I8 147 147
T 6. 946 6. 36E+07

BERE 0.515 3. 86E+08

o 3k 6. 982 9. 60E+06

mKIE 9.568 3. 10E+09

R/ME 5. 886 0. 00E+00

smvo | smm | G || zee | GF | RE | eese | B8 |l Bee | wie | Be | oo | se i
10 — 1 6. 643 4. 4E+06 1/31 116:30 9.6 R 1.5 2/1 10.0 2/1 36.0 | 2/3 | 36.0 | 1. Emus
10 — 2 6.613 4. TE+06 1/31 116:30 9.6 R 1.5 2/1 10.0 2/1 36.0 | 2/3 | 36.0 | 1. Emus
10 — 3 6. 663 4. 6E+06 1/31 116:30 9.6 B 1.5 2/1 10.0 2/1 36.0 | 2/3 | 36.0 | 1. EBmus
" - 1 1.146 1. 4E+07 1/31 [15:20 6.0 AR 5.0 2/1 10. 2 2/1 35.0 | 2/3 | 35.0 3. 0t P AT &)
1 - 2 1.079 1. 2E+07 1/31 [15:20 6.0 AR 5.0 2/1 10.0 2/1 35.0 | 2/3 | 35.0 3. 0t P AT &)
11— 3 /. 000 1. 0E+07 1/31 [15:20 6.0 A 5.0 2/1 10. 3 2/1 35.0 | 2/3 | 35.0 3. 0t FOAT &)
12 — 1 6. 881 1. 6E+06 1/31 110:00 6.4 B 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 2 F®w&EHk
12 — 2 6.919 8. 3E+06 1/31 110:00 6.4 B 8.0 | 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 2 Fw&EHk
12 — 3 6. 114 1. 3E+06 1/31 110:00 6.4 B 8.0 | 1/31 10. 6 1/31 | 35.0 | 2/2 | 35.0 | 2 FHw&EHR
13 — 1 7. 041 1. 1E+07 1/31 [11:40| 10.3 B 6.0 | 1/31 10.3 1/31 | 34.8 | 2/2 | 34.9 | 1. BERu®E
13 — 2 7.079 1. 2E+07 1/31 |11:40| 10.3 B 6.0 | 1/31 11.2 1/31 | 34.8 | 2/2 | 34.9 | 1. BERu®
13 — 3 7.079 1. 2E+07 1/31 |11:40] 10.3 B 6.0 | 1/31 10.3 1/31 | 34.8 | 2/2 | 34.9 | 1. BRu®
14 — 1 6. 968 9. 3E+06 1/30 | 9:50 6.1 A 8.2 | 1/31 10. 1 1/31 | 34.4 | 2/1 34.3 3. 0t REYTqILL
14 — 2 6. 863 1. 3E+06 1/30 | 9:50 6.1 AR 8.2 | 1/31 9.9 1/31 | 34.4 | 2/1 34.3 3. 0t REYTqILL
14 — 3 6.944 8. 8E+06 1/30 | 9:50 6.1 A 8.2 | 1/31 10. 2 1/31 | 34.4 | 2/1 34.3 3. 0t REYTqILL
15 — 1 1.908 8. 1E+07 1/31 [11:45 6.8 A 5.0 | 1/31 10.0 1/31 | 35.5 | 2/1 35.5 3. 0t REYTqILL
15 — 2 8. 041 1. 1E+08 1/31 [11:45 6.8 AR 5.0 | 1/31 10.0 1/31 | 35.5 | 2/1 35.5 3. 0t REYTqILL
15 — 3 7.908 8. 1E+07 1/31 [11:45 6.8 A 5.0 | 1/31 10.0 1/31 | 35.5 | 2/1 35.5 3. 0t REYTqILL
16 — 1 6. 839 6. 9E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. 0t REYTAILL
16 — 2 6. 826 6. 7E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10. 2 1/31 | 35.0 | 2/1 35.0 3. 0t REYT4ILL
16 — 3 6. 806 6. 4E+06 1/31 | 9:37 4.3 el 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. 0t REYTAILL
17 — 1 6. 857 1. 2E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. 0t REYTAILL
17 — 2 6. 820 6. 6E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10. 1 1/31 | 35.0 | 2/1 35.0 3. 0t REYT4ILL
17 — 3 6. 839 6. 9E+06 1/31 | 9:37 4.3 el 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. O REYTAILL
18 — 1 6. 857 1. 2E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10. 1 1/31 | 35.0 | 2/1 35.0 3. 0t REYTAILL
18 — 2 6. 929 8. 5E+06 1/31 | 9:37 4.3 AR 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. 0t REYTAILL
18 — 3 6. 863 1. 3E+06 1/31 | 9:37 4.3 el 10.0 | 1/31 10.0 1/31 | 35.0 | 2/1 35.0 3. 0t REYTqILL
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R —RERRESR

n | BARE | EiRR
et 38iE) (E#E)
$97° I8 147 147
T 6. 946 6. 36E+07

BERE 0.515 3. 86E+08

o 3k 6. 982 9. 60E+06

mKIE 9.568 3. 10E+09

R/ME 5. 886 0. 00E+00

sl | st | nny || 2me | G5 | R | #ese | BT | gio Bme | wwo | as |evo | as i
19 — 1 1. 041 1. 1E+07 2/1 9:45 10. 2 PR 1.0 2/1 10. 1 2/1 35.0 | 2/2 | 35.0 3. 20t REYTqILL
19 — 2 6.934 8. 6E+06 2/1 9:45 10. 2 R 1.0 2/1 10. 1 2/1 35.0 | 2/2 | 35.0 3. 20t REYTqILL
19 — 3 6. 954 9. OE+06 2/1 9:45 10. 2 A 1.0 2/1 10. 1 2/1 35.0 | 2/2 | 35.0 3. 0t REYTqILL
20 — 1 7.000 1. 0E+07 1/31 | 8:56 4.9 AR 5.0 | 1/31 11.2 1/31 2/2 1 BRES
20 — 2 1.053 1. 1E+07 1/31 | 8:56 4.9 AR 5.0 | 1/31 10.0 1/31 2/2 1 BRES
20 — 3 7.104 1. 3E+07 1/31 | 8:56 4.9 A 5.0 | 1/31 10.0 1/31 2/2 1 BREE
21 — 1 1.279 1. 9E+07 1/31 | 9:30 4.6 B 3.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1. BRu&
2 — 1 7.114 1. 3E+07 1/31 | 9:30 4.6 B 3.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1. BRu®
23 — 1 6. 839 6. 9E+06 1/31 | 9:30 4.6 B 3.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1. BRu&
24 — 1 6. 447 2. 8E+06 1/31 |10:50 1.0 B 3.5 | 1/31 9.7 1/31 | 34.0 | 2/2 | 34.0 | 1. BRu®
24 — 2 6. 431 2. TE+06 1/31 {10:50 1.0 B 3.5 | 1/31 9.7 1/31 | 34.0 | 2/2 | 34.0 | 1. BRu®E
24 — 3 6.176 1. 5E+06 1/31 110:50 1.0 B 3.5 | 1/31 10.5 1/31 | 34.0 | 2/2 | 34.0 | 1. BRu®E
2% — 1 6. 699 5. 0E+06 1/31 {10:50 1.0 B 6.0 | 1/31 9.8 1/31 | 34.0 | 2/2 | 35.0 | 1. BRu®
2% — 2 6. 477 3. OE+06 1/31 {10:50 1.0 B 6.0 | 1/31 9.8 1/31 | 34.0 | 2/2 | 35.0 | 1. BRu®
2% — 3 6. 477 3. 0E+06 1/31 [10:50 1.0 B 6.0 | 1/31 9.9 1/31 | 34.0 | 2/2 | 35.0 | 1. BRus
26 — 1 7.114 1. 3E+07 1/31 | 9:37 15.2 B 1/31 10. 2 1/31 | 35.0 | 2/2 | 35.0 | 1. BRu®E
27 — 1 1.204 1. 6E+07 1/31 | 9:37 15.2 B 1/31 10. 2 1/31 | 35.0 | 2/2 | 35.0 | 1. BRus
28 — 1 7.114 1. 3E+07 1/31 | 9:37 15.2 B 1/31 10. 2 1/31 | 35.0 | 2/2 | 35.0 | 1. BRu®E
29 — 1 7.079 1. 2E+07 1/31 |[10:00 1.5 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE
29 — 2 7.079 1. 2E+07 1/31 |[10:00 1.5 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEWiE
29 — 3 6.973 9. 4E+06 1/31 |10:00 1.5 bl 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
30 — 1 7. 041 1. 1E+07 1/31 |[10:00 1.5 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE
30 — 2 7. 041 1. 1E+07 1/31 |[10:00 1.5 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE
30 — 3 6. 982 9. 6E+06 1/31 |10:00 1.5 bl 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.EmiEa
31 — 1 7. 041 1. 1E+07 1/31 [ 11:30 6.3 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE
31 — 2 7.000 1. OE+07 1/31 [ 11:30 6.3 TR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEMiE
31 — 3 7.114 1. 3E+07 1/31 |11:30 6.3 bl 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1. BmuE=

3/6
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EQ SEER SR
(>t $fE) (EHUE)

$97° 14K 147 147

Ty 6. 946 6. 36E+07

EkRE 0.515 3. 86E+08

R fiE 6. 982 9. 60E+06

RAfE 9.568 3. 70E+09

B/IME 5. 886 0. 00E+00

Sio | XBIE ) 2Ee | an | "n | fERe | B |dun one | men | 5E | eon | aE
32 — 1 6. 996 9. 9E+06 1/31 [11:30 6.3 PR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmig=®
32 — 2 7.079 1. 2E+07 1/31 [11:30 6.3 PR 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmigE=®
32 — 3 6. 959 9. 1E+06 1/31 [11:30 6.3 R 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE®
33 — 1 6. 991 9. 8E+06 1/31 [10:15 1.7 B 5.0 | 1/31 10.0 1/31 | 35.0 | 2/1 | 35.0 | 1.iEmiE=®
33 — 2 6. 982 9. 6E+06 1/31 [10:15 1.7 B 5.0 | 1/31 10.0 1/31 | 35.0 | 2/1 | 35.0 | 1.iEmiE=®
33 — 3 7. 041 1. 1E+07 1/31 [10:15 1.1 R 5.0 | 1/31 10. 1 1/31 | 35.0 | 2/1 | 35.0 | 1.iEBmiE=®
34 — | 6. 964 9. 2E+06 1/31 [10:15 1.7 B 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE=®
34 — 2 7.000 1. OE+07 1/31 [10:15 1.7 B 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE=®
34 — 3 7. 041 1. 1E+07 1/31 [10:15 1.1 R 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE®
3 — 1 7.230 1. TE+07 1/31 | 8:50 9.0 B 5.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmi=®
3% — 2 7. 255 1. 8E+07 1/31 | 8:50 9.0 R 5.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmi®
3% — 3 7. 255 1. 8E+07 1/31 | 8:50 9.0 R 5.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
36 — | 7.230 1. TE+07 1/31 |10:20| 10.7 R 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
37 — 1 7.322 2. 1E+07 1/31 |10:20| 10.7 R 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
38 — 1 7.204 1. 6E+07 1/31 |10:20| 10.7 R 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
39 — 1 9.568 3. TE+09 1/31 [12:00 6.4 R 2/13 | 10.0 2/13 2/16 1 RS
39 — 2 9.230 1. TE+09 1/31 [12:00 6.4 R 2/13 | 10.0 2/13 2/16 1 RS
39 — 3 9.380 2. 4E+09 1/31 [12:00 6.4 R 2/13 | 10.0 2/13 2/16 1 RIRIEE
0 — 1 6. 982 9. 6E+06 1/31 |10:54| 4.8 AR 6.0 | 1/31 10.0 1/31 2/2 1 RS
0 — 2 6. 991 9. 8E+06 1/31 |10:54| 4.8 AR 6.0 | 1/31 10.0 1/31 2/2 1 RS
0 — 3 7.114 1. 3E+07 1/31 |10:54| 4.8 el 6.0 | 1/31 10.0 1/31 2/2 1 RIRIEE
a1 — 1 6. 971 9. 4E+06 1/31 |10:54| 4.8 AR 6.0 | 1/31 10. 1 1/31 2/2 1 RIRIEE
a1 — 2 7.063 1. 2E+07 1/31 |10:54| 4.8 AR 6.0 | 1/31 10.0 1/31 2/2 1 RS
41 — 3 6. 966 9. 3E+06 1/31 |10:54| 4.8 el 6.0 | 1/31 10.0 1/31 2/2 1 RIRIEE
2 — 1 7.114 1. 3E+07 1/31 | 9:00 8.0 ey 5.0 2/1 10. 1 2/1 35.0 | 2/2 | 35.0 | 1.BHEs
42 — 2 7. 146 1. 4E+07 1/31 | 9:00 8.0 ey 5.0 2/1 10.0 2/1 35.0 | 2/2 | 35.0 | 1.BHEs
2 — 3 7.146 1. 4E+07 1/31 | 9:00 8.0 A 5.0 2/1 10.0 2/1 35.0 | 2/2 | 35.0 | 1.BHEs




R —RERRESR

EQ SEER SR
(>t $fE) (EHUE)

$97° 14K 147 147

Ty 6. 946 6. 36E+07

EkRE 0.515 3. 86E+08

R fiE 6. 982 9. 60E+06

RAfE 9.568 3. 70E+09

B/IME 5. 886 0. 00E+00

Sio | XBIE ) 2Ee | an | "n | fERe | B |dun one | men | 5E | eon | aE Pt s
3 — 1 — 0. 0E+00 1/31 | 9:27 4.0 PR 0.0 | 1/31 10.3 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmig=®
43 — 2 6. 875 1. 5E+06 1/31 | 9:27 4.0 PR 0.0 | 1/31 10.8 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmigE=®
43 — 3 6.973 9. 4E+06 1/31 | 9:27 4.0 R 0.0 | 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE®
4 — 1 6. 940 8. TE+06 1/31 | 9:27 4.0 B 0.0 | 1/31 10. 4 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE=®
4 — 2 7.079 1. 2E+07 1/31 | 9:27 4.0 B 0.0 | 1/31 10.2 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE=®
4 — 3 6. 929 8. bE+06 1/31 | 9:27 4.0 R 0.0 | 1/31 10.3 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE®
46 — 1 6. 964 9. 2E+06 1/31 |10:47| 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3. %2ofts | REUTAILL
46 — 2 6.973 9. 4E+06 1/31 |10:47| 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
465 — 3 6. 892 1. 8E+06 1/31 |10:47] 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3. %2ofts | REUTAILL
46 — 1 6. 964 9. 2E+06 1/31 |10:47| 10.0 A 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
46 — 2 6. 996 9. 9E+06 1/31 |10:47| 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
46 — 3 1. 041 1. 1E+07 1/31 |10:47] 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
47 — 1 6.973 9. 4E+06 1/31 |10:47| 10.0 A 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
47 — 2 1. 041 1. 1E+07 1/31 |10:47] 10.0 A 1/31 10.2 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
47 — 3 6.929 8. bE+06 1/31 |10:47] 10.0 A 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 3.%2ofts | REUTAILL
48 — 1 6. 653 4. 5E+06 1/31 | 9:00 4.0 R 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiE®
48 — 2 6. 792 6. 2E+06 1/31 | 9:00 4.0 R 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmig®
48 — 3 6. 491 3. 1E+06 1/31 | 9:00 4.0 R 4.0 [ 1/14] 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.iEmiEa
49 — 1 6. 643 4. 4E+06 1/31 | 9:00 4.0 R 4.0 | 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 1.BRigE
49 — 2 6. 556 3. 6E+06 1/31 | 9:00 4.0 R 4.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
49 — 3 6.613 4. 1E+06 1/31 | 9:00 4.0 R 4.0 | 1/31 10. 1 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
50 — 1 7.176 1. 5E+07 1/31 |11:30] 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRigE
50 — 2 7. 146 1. 4E+07 1/31 |11:30| 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
50 — 3 7.204 1. 6E+07 1/31 |11:30] 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
51 — 1 7.079 1. 2E+07 1/31 |11:30] 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRigE
51 — 2 7.079 1. 2E+07 1/31 |11:30] 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
51 — 3 7.079 1. 2E+07 1/31 |11:30| 5.7 R 8.0 | 1/31 10.0 1/31 | 35.0 | 2/2 | 35.0 | 1.BRig=E
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$97° 14K 147 147

Ty 6. 946 6. 36E+07

BERE 0.515 3. 86E+08

R {E 6. 982 9. 60E+06

= AfE 9. 568 3. 70E+09

= /ME 5. 886 0. 00E+00

A e ) nEn | 0L | R | mEan | W | dinloms | men | oE | sin | o
52 — 1 7.000 1. OE+07 1/31 [11:30 5.1 AR 8.0 1/31 10.0 1/31 35.0 2/2 35.0 RFIEE
52 — 2 7.000 1. OE+07 1/31 [11:30 5.1 AR 8.0 1/31 10.0 1/31 35.0 2/2 35.0 RWIEE
52 — 3 7.114 1. 3E+07 1/31 [11:30 5.1 DR 8.0 1/31 10.0 1/31 35.0 2/2 35.0 RWIEE
53 — 1 7.079 1. 2E+07 1/31 8:45 2.2 PR 5.0 1/31 3.28 1/31 35.0 2/2 35.0 RWIEE
53 — 2 6. 959 9. 1E+06 1/31 8:45 2.2 PR 5.0 1/31 3.33 1/31 35.0 2/2 35.0 RWIEE
53 — 3 7.000 1. OE+07 1/31 8:45 2.2 DR 5.0 1/31 3.24 1/31 35.0 2/2 35.0 RWIEE
54 — 1 7. 041 1. 1E+07 1/31 8:45 2.2 PR 5.0 1/31 3.13 1/31 35.0 2/2 35.0 RWIEE
54 — 2 7.114 1. 3E+07 1/31 8:45 2.2 PR 5.0 1/31 4.17 1/31 35.0 2/2 35.0 RWIEE
54 — 3 7.079 1. 2E+07 1/31 8:45 2.2 DR 5.0 1/31 3.97 1/31 35.0 2/2 35.0 RWIEE
55 — 1 6. 908 8. 1E+06 1/31 [10:00]| 10.4 AR 1/31 10.3 1/31 35.0 2/2 35.0 RWIEE
55 — 2 6. 833 6. 8E+06 1/31 [10:00| 10.4 AR 1/31 10. 1 1/31 35.0 2/2 35.0 CRIRIEE
55 — 3 6. 982 9. 6E+06 1/31 [10:00| 10.4 R 1/31 10. 1 1/31 35.0 2/2 35.0 RIS E




